R

O Y A L

B

A

S S

A N

ES HYDRAULIC

D

GLOBAL

Male Pipe
NPTF 30° Cone Seat

REF # . . .
4G-2MP (G25100-0402 Va Va-21 Y2 1.97 0.94
4G-4MP (G25100-0404 Va Va-18 Y6 2.07 1.04
46-6MP | G25100-0406 Ya %-18 e 213 110 COUPLING
4G-8MP (G25100-0408 Va Y2-14 7% 2.40 1.38 '7 C
5G-4MP (G25100-0504 Y6 Va-18 % 2.28 1.18
6G-4MP G25100-0604 % Ya-18 % 2.28 1.19 l:
6G-6MP (G25100-0606 % % -18 e 2.19 1.09
6G-8MP (G25100-0608 % Y2-14 7 2.46 1.36 Sl:irEE)'é/l
8G-6MP (G25100-0806 Y2 %-18 e 2.60 1.12
8G-8MP (G25100-0808 Y2 Y2-14 7 2.81 1.34
8G-12MP (G25100-0812 Y2 Ya-14 1 Y16 291 1.44
10G-8MP G25100-1008 % Y2-14 %6 291 1.44
10G-12MP G25100-1012 % Ya-14 1%e 2.89 1.42
12G-8MP G25100-1208 Ya Y2-14 1%e 3.46 1.46
12G-12MP G25100-1212 Ya Ya-14 1%e 3.46 1.46
12G-16MP G25100-1216 Ya 1-11% 1% 3.64 1.63
16G-12MP G25100-1612 1 Ya-14 1% 394 1.70
16G-16MP G25100-1616 1 1-117% 1% an 1.88
20G-20MP (G25100-2020 1Va 1V-11% 1% 44 2.09
(One piece coupling - does not require ferrules / will replace PC in the future)
(8 finger die sets required for crimping)
[
SPECIFICATIONS Male Pipe Long Nose
HOSE THREAD STEM “"
GLOBAL LD. SIZE HEX LENGTH CUT-OFF . COUPLING
RB&H # REF # (IN.) (IN.) (IN.) (IN.) (IN.) LENGTH
4G-4MPLN G25101-0404 Va Va-18 Y16 2.56 1.54 ’ I c
4G-6MPLN G25101-0406 Ya %-18 e 2.50 1.48
6G-4MPLN G25101-0604 % Va-18 % 2.64 1.54
66-6MPLN | G25101-0606 % %-18 e 2.58 148 Tex
° °
SPECIFICATIONS Male Pipe Swivel

GLOBAL

SWIVEL

LENGTH

NPTF

REF # . ] )
4G-2MPX | G25105-0402 Ya 8- 27 Without 300
4G-4MPX |G25105-0404] 4 V- 18 % Wi 261 158
4G-6MPX |G25105-0406] 74 %-18 % % 274 171 Cone Seat
4G-8MPX |G25105-0408| 4 - 14 % 1 297 194
6G-4MPX |G25105-0604] % Vo 14 % % 287 177
6G-6MPX |G25105-0606] % %- 18 % % 281 172 couPLING
6G-8MPX |G25105-0608] % Vo 14 % 1 305 1.95 —
8G-6MPX |G25105-0806] 1 %- 18 7 % 323 176
8G-8MPX |G25105-0808] 1% V- 14 e 1 342 194 [
10G-12MPX |G25105-1012| 9 %- 14 1o 1% 348 201 STEn N
12G-8MPX |G25105-1208] % Y- 14 1Yo 1 3.97 1.96 HEX HEX
126-12MPX |G25105-1212] % %14 1V 1%0 402 201
16G-16MPX | G25105-1616 1 1-1 7% 1% 1% 473 250
Not to be used as a live swivel.
To order by phone: 1-800-669-9650 e To order by fax: 1-800-736-0141




R O Y A

Male Pipe Swivel
90° Block NPTF

L B R A S S A N D o_s
GATES HYDRAULIC
BIVID™V . e
SPECIFICATIONS

GLOBAL
REF #

LENGTH
(IN)

With Out 300 4G-2MPX90 | G25106-0402 Ya Y6 155 175 072
4G-4MPX90 | G25106-0404 Y Va-18 e 163 175 0.72
Cone Seat 4G-6MPX90 | G25106-0406 7 %18 % 173 182 0.80
6G-4MPX90 | G25106-0604 % V4-18 e 1.66 195 0.85
_— 6G-6MPX90 | G25106-0606 % %- 18 7% 176 195 0.85
T LE”GT‘L? 6G-8MPX90 | G25106-0608 % Yo- 14 1 193 1.96 0.85
i 6G-8MPX90L | G25107-0608 % Yo- 14 1 1.93 3.04 194
8G-6MPX90 | G25106-0806 % %- 18 7% 189 255 107
8G-8MPX90 | G25106-0808 % Yo-14 1 2.06 255 107
8G-8MPX90L | G25106-0808 % Yo- 14 1 2.06 376 180
12G-12MPX90| G25106-1212 % Y- 14 1% 230 3.18 117
12G-12MPX90L] G25106-1212 % Y- 14 1% 230 453 192
ot to be used as a live swivel.
Female Pipe SPECIFICATIONS
o HOSE THREAD STEM “gr
NPTF wlthout GLOBAL 1D. SIZE HEX LENGTH CUT-OFF
RBSH # REF # (IN) (IN) (IN) (IN) (IN)
300 C one S eat 4G-2FP G25110-0402 Y Y- 27 %6 174 0.72
4G-4FP G25110-0404 Y Va-18 e 199 0.96
4G-6FP G25110-0406 Y %- 18 78 199 0.96
COUPLING 6G-4FP G25110-0604 % Va-18 e 201 091
’» —c 6G-6FP G25110-0606 % %- 18 13 207 0.97
6G-8FP G25110-0608 % Yo-14 1 2.25 115
[ 8G-6FP G25110-0806 % %-18 13 246 0.98
= 8G-8FP G25110-0808 % Yo-14 1 264 116
HEX 12G-12FP G25110-1212 % Y- 14 1 323 122
Female Pipe SPECIFICATIONS
o g
Swivel NPSM . L
300 Cone S eat 4G-4FPX | G25111-0404 Y Va-18 s Wi 2.24 122
6G-6FPX | G25111-0606 % %- 18 % % 237 127
8G-8FPX | G25111-0808 % Yo-14 6 1 281 133
‘ COLPLING ‘ 12G-12FPX | G25111-1212 % %414 16 1Va 372 171
[—c— 16G-16FPX | G25111-1616 1 1-11 % 1% 11 411 187
|
TeX Nex

To order by phone: 1-800-669-9650

To order by fax: 1-800-736-0141

{56 }




[ ]
Male O-Ring Boss
GLOBAL .D. LENGTH
REF # ] . )
4G-4MB | G25120-0404 Y 7he - 20 %6 1.89 0.7 COUPLING
4G5MB | G25120-0405 Y - 20 % 183 081 |&t:l
4G6MB | G25120-0406 Ve Y6 - 18 e 201 0.98
6G-6MB | G25120-0606 % Y6 - 18 e 207 0.96 [
6G-8MB | G25120-0608 % %- 16 % 217 107 STEm
6G-10MB | G25120-0610 % - 14 1 ) 113 HEX
6G-12MB | G25120-0612 % 1 Ve - 12 1 242 132
8G-8MB | G25120-0808 % - 14 % 254 1.06
8G-10MB | G25120-0810 Y% - 14 1 258 110
8G-12MB | G25120-0812 % 1 e - 12 14 278 1.30
10G-8MB | G25120-1008 % %- 16 1 268 120
106-10MB | G25120-1010 % 7%- 14 1 264 116
106-12MB | G25120-1012 % 16 - 12 1 278 1.30
126-12MB | G25120-1212 % 1 Ve - 12 174 329 128
126-14MB | G25120-1214 % 1%s- 12 1% 331 1.30
126-16MB | G25120-1216 % 1%6- 12 17 344 144
16G-14MB | G25120-1614 1 1%e- 12 1% 378 154
166-16MB | G25120-1616 1 1%6- 12 17 372 148
20G-20MB | G25120-2020 14 19- 12 1% 382 1.50
SPECIFICATIONS Male O-Rin
-Ring
GLOBAL D. LENGTH BOS S SWivel
REF # . . ! (N)
4G-4MBX | G25121-0404 Y The - 20 Y 7 269 167
4G-6MBX | G25121-0406 I %s- 18 % % 265 162 | coUPLING
6G-6MBX | G25121-0606 % Y6 - 18 % % 273 1.63 LENGTH R
6G-8MBX | G25121-0608 % %- 16 % 1 274 164
6G-10MBX | G25121-0610 % - 14 % 1 280 1.70 [
8G-8MBX | G25121-0808 7 %- 16 e 1 311 164
8G-10MBX | G25121-0810 % - 14 e 1 317 170 STEM
10G-10MBX | G25121-1010 % %- 14 1 1 370 182 HEX N
12G-12MBX | G25121-1212 % 1 Ve - 12 1 Vo 150 400 1.99
[ ]
SPECIFICATIONS Male O-Rll‘lg Boss
. o
ww | i Swivel 45° Block
6G-6MBX45 [G25122-0606] % Y- 14 % % 1.09 311 201
6G-8MIBX45 [G25122-0608] % %-16 % 1 106 3.07 1.98 F_ ' LEﬂ:;:
8G-8MBX45[G25122-0808] 14 %-16 1 1 112 304 156 ™ O S
8G-10MBX45|G25122-0810] 15 7%- 14 1 1 1.16 308 161 H-_Jﬁ!

e
wy/,
AV

To order by phone: 1-800-669-9650 —— To order by fax: 1-800-736-0141




R O Y A L B A S S A N D H O S E
GATES HYDRAULIC
» \ADTNV » ']
Male O-Ring SPECIFICATIONS

Boss Swivel > oy

) (IN)
900 BlOCk 4G-5MBX90 | G25123-0405 | 14 1%-20 6 e 157 182 0.80
4G-6MBX90 | G25123-0406 | 14 %e- 18 e % 165 182 0.80
6G-6MBX90 | G25123-0606 [ 3 %e- 18 % % 167 196 0.85
6G-8MBX90 | G25123-0608 | 34 %- 16 % 1 163 193 0.83
coupLING 6G-10MBX90 | G25123-0610 3 Y- 14 34 1 1.69 1.95 0.85
r o 8G-8MBX90 | G25123-0808 [ 1% %- 16 1 1 175 2.55 1.07
i 8G-8MBX90L | G25124-0808 | 14 %- 16 1 1 175 3.76 1.80
BT 8G-10MBX90 | G25123-0810 | 1 - 14 1 1 1.81 2.55 1.07
o ! 8G-10MBX90L | G25124-0810 | 1 - 14 1 1 181 3.76 1.80
HEx { 8G-12MBX90 | G25123-0812 | 14 1%e-12 1 1% 2.09 252 1.05
v 8G-12MBX90L | G25124-0812 | 1% 18- 12 1 1%6 2.09 4.25 2.28
10G-10MBX90 | G25123-1010 | 34 - 14 1 1 1.81 2.40 093
12G-12MBX90 | G25123-1212 | 94 1612 1% 1%6 2.39 3.18 1.17
12G-12MBX90L| G25124-1212 | 94 1619 1% 1% 453 453 193

Not to use as a live swivel

Male JIC 37° SPECIFICATIONS
Flare el g

4G-8MJ | G25165-0404 Y The - 20 % 215 112
4G5MJ | G25165-0405 Y - 20 N 215 112
CoPG 4G6MJ | G25165-0406 Ve e - 18 %e 207 1.04
c— 5G-6MJ | G25165-0506 e % - 18 % 226 116
‘ 6G-6MJ | G25165-0606 % Y- 18 % 224 115
[ LA 66-8MJ | G25165-0608 % %- 16 % 230 1.20
STEM 6G-10MJ | G25165-0610 % - 14 % 202 132
HEX 8G-8MJ | G25165-0808 1 %-16 e 268 1.20
8G-10MJ | G25165-0810 Y - 14 % 278 1.30
8G-12MJ | G25165-0812 Y 146 - 12 1 Ve 297 150
10G-8MJ | G25165-1008 % %-16 7 283 1.36
106-10MJ | G25165-1010 % - 14 e 299 152
106-12MJ | G25165-1012 % 1 e - 12 146 297 150

126-10MJ | G25165-1210 % - 14 7
126-12MJ | G25165-1212 % 1 Ve - 12 146 366 165
126-14MJ | G25165-1214 % 1%6-12 1% 358 157
126-16MJ | G25165-1216 % 1%6- 12 1% 362 161

16G-14MJ | G25165-1614 1 1 %6-12 1 %6
16G-16MJ | G25165-1616 1 1% - 12 1% 411 188
16G-20MJ | G25165-1620 1 1%-12 1% 429 206
20G-20MJ | G25165-2020 14 19- 12 1% 439 207

To order by phone: 1-800-669-9650 —— To order by fax: 1-800-736-0141




Female JIC
[ ]
L 37° Flare Swivel
4G-4FJX  |G2s170-0408] 14 s - 20 % %e 210 1.08
4G5FJX  |G25170-0405] V4 - 20 % e 221 119 . ouPLING
4G6FJX  |G25170-0406] V4 Y- 18 7 % 222 119 LENGTH
5G-5FJX  |G25170-0505]  %e - 20 % e 223 113 |‘—°—>
5G-6FJX |G25170-0506] e %6 - 18 % % 231 121
6G-4FJX |G25170-0604] % e - 20 % %6 230 120 [
6G-5FJX  |G25170-0605 % % -20 % Ve 2.23 1.13 =,
6G-6FJX |G25170-0606| % Yo 18 % % 231 119 HEX MY
6G-8FJX |G25170-0608] % %- 16 e % 248 1.38
6G-10FUX |G25170-0610] 3 - 14 7 1 261 1.50
6G-12FUX |G25170-0612] % 18- 12 7
8G-6FJX |G25170-0806] 1% %6 - 18 7 % 263 115
8G-8FJX |G25170-0808] 1% %-16 7 % 282 134
8G-10FUX |G25170-0810] % %- 14 7 1o 296 148
8G-12FUX |G25170-0812] % 1Vie- 12 1 174 311 163
8G-16FJX |G25170-0816] % 1%0- 12 1
10G-8FJX |G25170-1008] % %-16 e % 290 142
10G-10FJX_|G25170-1010] % %- 14 o7 1 Vo 304 1.56
10G-12FJX_|G25170-1012] % 14 - 12 1 14 309 161
10G-14FJX_|G25170-1014] % 1%0-12 1% 1% 314 1.66
12G-8FJX |G25170-1208] % %- 16 146 7% 351 150
12G-10FJX_|G25170-1210] % %14 16 1o 351 1,50
126-12FJX_|G25170-1212 % 1 e - 12 16 1 368 167
12G-14FJX_|625170-1214] % 1% - 12 17 1% 365 164
12G-16FJX |G25170-1216] % 1% - 12 174 17 378 177
16G-12FJX | G25170-1612 1 1Vi6-12 1% 14 398 174
16G-14FJX | G25170-1614 1 1%6-12 1% 1% 4.00 177
16G-16FJX | G25170-1616 1 1%6- 12 1% 17 417 1.94
16G-20FJX | G25170-1620 1 1%-12 1% 2 433 209
20G-20FJX |G25170-2020] 1% 19 12 1% 2 458 226
20G-24FJX |G25170-2024] 174 17- 12 1% 2 483 251
SPECIFICATIONS Female JIC
[ ]
am | b | s _ e 37° Flare Swivel
10G-12FJX30-018] G25172-1012 | %% 16 % 1 4.45 29 300 Bent Tube
126-10FIX30 | G25172-1210 | % - 14 1 070 445 244

- LENGTH
r. G- :‘

—— Jll? — ~-]

To order by phone: 1-800-669-9650 —— To order by fax: 1-800-736-0141




R O Y A L B R A S S A N D H O S E

GATES HYDRAULIC

SINIDTV - .
Female JIC 37° SPECIFICATIONS
L] “c"
Flare Swivel aw | o
450 B ent Tub e 4G-4FJX45 |G25175-0404] 74 The - 20 % 047 228 1.26
4G5FJX45 |G25175.0405] V4 %20 % 056 256 154
4G-6FJX45 |G25175.0408] V4 %6 - 18 e 056 273 171
5G-5FJXA5 |G25175-0505| e %-20 % 056 260 150
‘ e 5G-6FJX45 |G25175-0508] %46 %o - 18 e 056 287 177
‘ N 6G-4FJXA5 |G25175-0008] % 7o 20 e 056
[ 6G-6FJX45 |G25175-0006] % %518 e 056 291 181
’ T 6G-8FJXA5 |G25175-0008] % %- 16 % 069 288 178
- 8G-8FJX45 |G25175-0808] % %- 16 % 069 331 183
HEX 8G-10FUX45 [G25175-0810] 1% T 14 1 075 362 214
10G-10FJX45 [G25175-1010] % - 14 1 075 360 213
10G-12FJX45 [G25175-1012] % 1V~ 12 1% 1.06 413 266
12G-10FJX45 [G25175-1210] % - 14 1 075 457 256
12G-12FJX45 [625175-1212] % 1Vho- 12 1% 1.06 489 288
12G-16FJX45 [G25175-1216] % 1%6-12 17 116 5.75 374
16G-12FJXa59|G25174-1612] 1 1V 12 1% 83 5.16 292
16G-16FJX45 [G25175-1616] 1 1%6-12 17 116 5.30 3.06
20G-20FJX45 |G25175.2020( 1 V4 1%6-12 2 116 6.65 433

To order by phone: 1-800-669-9650 —— To order by fax: 1-800-736-0141




Female JIC
a1 oo | anon 37° Flare Swivel
4G-4FJX90S | G25179-0404| 4 76 - 20 %6 0.68 2.26 1.23 900 Bent Tube
4G-4FJX90M | G25180-0404| 14 76 - 20 % 0.88 2.06 1.03
4G-4FJX90L | G25181-0404 | 14 76 - 20 %6 1.80 2.06 1.03
4G-5FJX90S | G25179-0405| V4 Y- 20 % 0.77 2.32 1.30 ‘ i
4G-5FJX90M | G25180-0405 | V4 Y5-20 % 113 217 115 ‘ e c——
4G-6FJX90S | G25179-0406 [ 14 %e- 18 e 0.85 2.52 149 [ T
4G-6FJX90L | G25181-0406| V4 %s- 18 e 213 2.80 177 1
4G-6FJX90M | G25180-0406 | 14 %e- 18 L7 1.13 252 150 or l
5G-6FJX90S | G25179-0506 | %46 Y6 - 18 Ve 0.85 267 157 e
5G-6FJX90M | G25180-0506 | e %e- 18 16 1.13 252 147
6G-4FJX90L | G25181-0604| 34 76 - 20 % 181 2.21 11
6G-6FJX90S [G25179-0606-| 3 %e- 18 e 0.85 2.36 122
6G-6FJX90M | G25180-0606 [ 36 %s- 18 e 113 2.32 122
6G-6FJX90L | G25181-0606 | 34 %e- 18 e 218 2,60 150
6G-8FJX90S | G25179-0608 | 36 % - 16 % 1.09 2.74 1.65
6G-8FJX90M | G25180-0608 [ 34 % - 16 % 1.38 2.54 1.44
6G-8FJX90L | G25181-0608 | 34 % - 16 % 243 2.54 144
6G-10FJX90M | G25180-0610| 34 T%-14 1 175 2.78 167
8G-8FJX90S | G25179-0808| 14 %-16 % 1.09 3.16 169
8G-8FJX90M | G25180-0808 [ 14 %- 16 % 1.38 2.91 1.44
8G-8FJX90L | G25181-0808| 14 %- 16 % 243 2.91 144
8G-10FJX90S | G25179-0810| 14 - 14 1 123 372 2.24
8G-10FJX90M [ G25180-0810[ 12 - 14 1 175 3.20 173
8G-10FJX90L |G25181-0810] 14 %- 14 1 2.57 3.15 1.68
8G-12FJX90S [ G25179-0812 1 1Y6-12 1% 1.89 413 2,66
10G-10FJX90S | G25179-1010] % 7%- 14 1 123 337 1.89
10G-10FJX90M | G25180-1010| %6 7%- 14 1 175 3.19 11
10G-10FJX90L | G25181-1010] % T%-14 1 2.57 3.19 17
10G-12FJX90S [ G25179-1012 9% 1V - 12 1% 1.82 377 2.30
10G-12FJX90M | G25180-1012 % 1%6- 12 1% 2.06 3.35 1.87
10G-12FJX90L | G25181-1012 % 1Y6-12 1% 3.78 3.35 1.87
12G-10FJX90M | G25180-1210| 34 - 14 1 175 3.78 177
12G-12FJX90S | G25179-1212| 34 1Y6-12 1% 1.82 4.26 2.25
12G-12FJX90M | G25180-1212 34 14612 1% 2.06 3.83 1.82
12G-12FJX90L | G25181-1212 34 1V6-12 1% 3.73 383 1.82
12G-14FJX90S | G25179-1214] 34 1%6-12 1% 2.00 488 2.87
12G-14FJX90L | G25181-1214 34 1%6-12 1% 3.93 413 213
12G-16FJX90-074] G25183-1216 | %4 11%6- 12 1%
16G-16FJX90S | G25179-1616| 1 1%6- 12 1% 2.23 5.11 2.88
16G-16FJX90M [ G25180-1616| 1 1%6- 12 11 2.62 452 2.29
16G-16FJX90L | G25181-1616 1 1%6- 12 11 433 452 2.29
16G-20FJX90S [ G25179-1620 1 1%- 12 2 2.95 6.57 4.34
20G-20FJX90M | G25180-2020 | 174 1%- 12 2 3.50 543 3N

To order by phone: 1-800-669-9650 — To order by fax: 1-800-736-0141




R O Y A L B R A S S A N D H O S E

GATES HYDRAULIC

» \ADTNV » [
Male SAE 45° Flare SPECIFICATIONS
COUPLING GLOBAL HIol]SE THS':ZEED S}IFE.;A LENGTH Cl;'ll'(-;(’lYFF

LENGTH RB&H # REF # (IN.) (IN.) (IN.) (IN.) (IN.)
[e—c 4G-4MS | G25195-0404 Ve %6- 20 % 211 1.08
4G5MS | 6251950405 Va V20 % 216 113
Jis: 6G-6MS | G25195-0606 % %18 % 228 119
STEM 8G-8ViS | G25195.0808 % % 16 Yo 278 130
HEX 8G-10MS | G25195-0810 % 780 7% 289 142
126-12MS | G25195-1212 % 1V 18 1V 378 177
Female SAE SPECIFICATIONS
L[]
45° Flare Swivel aw | _ _ |
4G-4FSX |G25200-0404] V4 %6 - 20 % Y% 209 1.06
' e 4G-5FSX  |G252000405] V4 V- 20 % Vo 221 119
‘ f—c—> 4G-6FSX_ |G252000406] V4 %18 % % 231 128
5G-6FSX |G252000506] % %18 % % 244 134
[ 6G-6FSX |G252000606] % %18 % % 241 131
STEM  NUT 6G-8FSX |G252000608] % % 16 Vo % 248 138
e 8G-8FSX_ |G25200.0808] 1% %16 Yo % 282 134
8G-10FSX_|G25200.0810] 7% %14 Yo 1V 293 145
12G-12FSX |6252001212 % Vo146 | 1% 1% 368 167
Female SAE SPECIFICATIONS
[ ]
45° Flare Swivel o
450 B ent Tub e 4G-5FSX45-009 |G25202-0405| 14 | %-20 | % 1% 041 2.56 154
6G-6FSX45 |G25202.0606] % | %-16 | % % 043 270 167
e LENGTH ” 6G-8FSX45-014 |G25202-0608| % | %-16 | % 7% 043 278 168
——c- 8G-0FSXd5 |6252020808| 1% | %-16 | e | % 059 307 197
T - 86-10FSX45-018[G25202-0810] 2 | 7%-14 | 1% 1 059 350 207
. h\‘a—f 12G-12FSXA5 |G25202-1212] % |1 Vhe-14| 174 | 1% 0.65 352 208
e T
HEX ,
Female SAE SPECIFICATIONS
[ ]
45° Flare Swivel -],
o 4G-4FSX90 | 625205-0404
90 Bent TUbe 4G-5FSX90-046 |G25205-0805] 15 | %-20 | %% % 180 247 145
5G-6FSX90-022 |G25204-0506] % | %-18 | % % 0.85 277 167
e 6G-6FSX90 |G25205-0006] % | %-18 | % % 152 236 126
6G-6FSX90-055 |G25206-0606] % | %-18 | % % 218 283 173
— 6G-8FSX90 |G25205-0008] % | %-16 | % % 175 293 146
] 8G-8FSX90 |G25205-0808] 15 | %-16 | e | % 175 293 146
_|_l B 8G-10FSX90-031G25204-0810] %% | 7%-14 | "% 1 123 329 181
oot ‘, 4 L B 12G-12FSX90 [G25205-1212) % |1Vie-14| 1% 1V 278 3.94 1.93

To order by phone: 1-800-669-9650 —— To order by fax: 1-800-736-0141




R O Y A L

SINIDTV - s
SPECIFICATIONS l l -
GLOBAL HIODSE T“S|:ZE€D LENGTH CA'}c(’J’FF Ma e F at F.ace
RBRH # REF # (IN) (IN) (IN) 'il;l.) O - Rlng
4G-OMFFOR | 6252250404 Y Y6 - 18 207 1.04
4G6MFFOR | (G25225-0406 m Wi6- 16 213 110
6G-6MFFOR | (G25225-0606 % e - 16 220 111 SAE J 1453
e B B E CapTIVE O-RING GROOVE FOR
- = 8 - . .
8G-8MFFOR | G25225-0808 % - 16 269 121 IMPROVED O-RING RETENSION.
8G-10MFFOR | G25225-0810 % 1-14 287 140 FENGY
10G-10MFFOR | G25225-1010 % 1-14 270 122
10G-12MFFOR | G25225-1012 % 1%6- 12 283 1.36
12G-12MFFOR | G25225-1212 % 1%6-12 354 154
12G-16MFFOR | G25225-1216 % 17612 374 173
16G-16MFFOR | (G25225-1616 1 176-12 402 178
16G-20MFFOR | (252251620 1 116 - 12 413 1.90
20G-20MFFOR | G25225-2020 174 16 - 12 429 197
SPECIFICATIONS Female Flat Face
[ ] [ )
G . _ o O-Ring Swivel
4G-4FFORX [G25230-0404] 4 Y- 18 %6 e 215 112
4G-6FFORX |G25230-0406] 4 s - 16 % e 224 122
4G-8FFORX |G25230-7408| 74 Yo 16 Cf)EUNF’é#ﬁGj
5G-6FFORX |G25230-0506] %o Vs - 16 % 7 270 122 [—c
6G-4FFORX |G25230-0604] % %6 - 18 25 Wi 224 115 i
6G-6FFORX |G25230-0606] % W6 16 % 7 232 122 -,
6G-8FFORX | G25230-0608 % 36 - 16 % 1346 252 142 HEX HEx
8G-6FFORX |G25230-0806] 1 W6 - 16 7 e 274 126
8G-8FFORX |G25230-0808] 1% 6 - 16 7 7 289 142
8G-10FFORX | G25230-0810| 7% 1-14 o7 17 319 171
8G-12FFORX |G25230-0812 1% 1%0-12 o7 1% 332 184
10G-8FFORX | G25230-1008| % 6 - 16
10G-10FFORX|G25230-1010] % 1-14 1 1% 321 173
10G-12FFORX|G25230-1012] % 1%6- 12 7 1% 331 183
12G-10FFORX| G25230-1210] % 1-14 1 e 1% 376 175
12G-12FFORX| G25230-1212| % 1%6- 12 146 1% 378 177
12G-16FFORX| G25230-1216] % 176-12 17 1% 3.99 1.98
16G-12FFORX| G25230-1612 1 1%6- 12 1% 1% 417 194
16G-16FFORX| G25230-1616 1 176~ 12 1% 1% 446 223
16G-20FFORX| G25230-1620 1 11V - 12 1% 17 446 223
20G-20FFORX| 6252302020 174 11hs- 12 1% 1% 450 218

To order by phone: 1-800-669-9650 —— To order by fax: 1-800-736-0141




R O Y A L B R

A S S

GATES HYDRAULIC

A N D

Female Flat Face SPECIFICATIONS
L] [ ] “c"
O-Ring Swivel | o
o 4G-AFFORXS | G25235-0404 | V4 | %e-18 e 041 256 1,54
45 Bent TUbe 4G-OFFORXA5 | G25235-0406 | %4 | 'Vhe- 16 %o 043 270 167
5G-6FFORX45 | G25235-0506 | %o | 'Vie- 16 %o 043 273 163
‘ couPLG 6G-4FFORXASS | G25234-0604 | % | - 18 e 039 260 150
‘ LTGTH . 6G-6FFORXA5 | G25235-0606 | % | 'Vhe- 16 %o 043 278 168
i 6G-8FFORXA5 | 6252350008 | % | '%e- 16 e 059 307 197
j 8G-8FFORXA5 | G25235-0808 | 1% | '%e- 16 %o 059 350 207
8G-10FFORX45 | 6252350810 | 1% 1-14 1% 065 352 204
Hex 8G-12FFORXA5 | G25235-0812 | 16 | "%he-12 1% 083 434 287
10G-10FFORX45 | G25235-1010 | % 1-14 1% 065 350 202
10G-12FFORX45 | G25235-1012 | % | 1%e- 12 1% 083 390 242
12G-10FFORX45 | G25235-1210 | % 1-14 1% 065 4.00 1.99
12G-12FFORX45 | G25235-1212 | % | 1%e- 16 1% 083 467 266
12G-16FFORXA5 | G25235-1216 | % | 17%- 12 1% 094 5.24 323
16G-16FFORX45 | G25235-1616 | 1 176 - 16 1% 094 5.08 285
20G-20FFORXAS | 6252352020 | 174 | 11Vhe- 12 1% 1.00 5.83 350

To order by phone: 1-800-669-9650

{64}

To order by fax: 1-800-736-0141




Female Flat Face
o L]
aw | o O-Ring Swivel
4G-4FFORX90S | G25239-0404 [ 14 %e- 18 1 e 0.82 2.38 135 900 B ent Tub e
4G-4FFORX90M | G25240-0404 | 14 %6 - 18 1 e 1.26 217 1.15
4G-4FFORX90L | G25241-0404 | 14 %e-18 Y e 1.80 217 1.15
4G-6FFORX90S | G25239-0406 | 14 [ '%4e-16 1 g 0.90 2.50 147 _
4G-6FFORX90M | G25240-0406 | 14 | '%4e-16 % Y6 151 2.30 1.28 I Lfmm_c_ N
4G-6FFORX90L | G25241-0406 | 14 | %4e-16 % 1346 213 2.30 1.28 N o
4G-8FFORX90M | 6252400408 [ 74 [ %4616 % e 251 260 157 ) __ﬁ.‘!:il; - f
5G-6FFORX90S | G25239-0506 | %46 | 'V4e- 16 % g 0.90 2.84 174 11 T
6G-4FFORX90S | G252390604 | 3 Y6 - 18 % e 082 242 1.32 wr [ l
6G-6FFORX90S | G25239-0606 | 3 | 1%4e-16 % 36 0.90 2.55 1.44 . € J
6G-6FFORX90M | G25240-0606 | 35 | 1%4e-16 % 2 151 248 138
6G-6FFORX90L | G25241-0606 | 3% | '%e-16 % 36 213 248 1.38
6G-8FFORX90S | G25239-0608 | 3% | '%e-16 % %46 115 287 177
6G-8FFORX90M | G25240-0608 | 36 | '346-16 % %46 162 261 151
6G-8FFORX90L | G25241-0608 | 3% | '%e-16 % %46 251 261 151
8G-6FFORX90S | G25239-0806 | - | '%e-16 1346 36 90 2.98 150
8G-8FFORX90S | G25239-0808 | - | '%6-16 1346 %46 115 3.30 1.83
8G-8FFORX90M | G25240-0808 | 12 | 1346-16 g 1846 162 3.04 1.56
8G-8FFORX90L | G25241-0808 | 15 | 1%6-16 13g 1546 251 3.04 156
8G-10FFORX90S | G25239-0810 | 14 1-14 13g 1% 127 3.30 1.82
8G-10FFORX90M | G25240-0810 | 1% 1-14 7 1% 1.85 3.06 158
8G-10FFORX90L [ G25241-0810 | 1% 1-14 36 1% 2.76 3.07 159
8G-12FFORX90S | G25239-0812| 15 | 1346-12 1546 1% 1.88 41 264
10G-8FFORX90L | G25241-1008 | 5 [ '%e-16
10G-10FFORX90S | G25239-1010 | % 1-14 %46 1% 127 3.28 181
10G-10FFORX90M| G25240-1010 | % 1-14 %46 1% 1.85 3.06 158
10G-10FFORX90L | G25241-1010 [ %6 1-14 %46 1% 2.76 3.05 157
10G-12FFORX90S| G25239-1012 | % | 1%46-12 %46 1% 1.88 3.77 2.30
12G-10FFORX90S | G25239-1210 | 34 1-14 1% 1% 1.26 4.09 2.09
12G-12FFORX90S| G25239-1212 | 34 | 1%46-12 1% 1% 1.88 4.26 2.25
12G-12FFORX90M| G25240-1212 | 34 | 1%%4e-12 [ 1% 1% 2.28 4.08 207
12G-12FFORX90L | G25241-1212 [ %% | 1%6-12 1% 1% 3.78 4.02 201
12G-16FFORX90S | G25239-1216 | % | 174e-12 1%e 1% 2.21 4.67 2.66
16G-12FFORX90S | G25239-1612 | 1 1%6-12 1% 1% 1.89 4.84 2.61
16G-16FFORX90S | G25239-1616 | 1 17%6-12 1% 1% 2.21 5.11 2.88
16G-16FFORX90M| G25240-1616 | 1 17%6-12 1% 1% 2.78 453 2.29
16G-16FFORX90L | G25241-1616 [ 1 17%6-12 1% 1% 450 453 2.29
20G-20FFORX90S | G25239-2020 [ 1% | 11%6-12 1% 1% 2.51 5.51 3.19
20G-20FFORX90M| G25240-2020 [ 114 | 11%46-12 1% 17 3.09 5.31 2.99
20G-20FFORX90L | G25241-2020 | 1%a | 11%46-12 1% 17 5.09 5.31 2.99

To order by phone: 1-800-669-9650 —— To order by fax: 1-800-736-0141




R O Y A L B R A S S A N D H O S E
GATES HYDRAULIC
v » \' » .
[ ]
O-Ring Flange SPECIFICATIONS
NOM.FLG. | “M” FLANGE "H" FLG, HEAD
CoDE 61 GLOBAL . SIZE DIAMETER LENGTH THICKNESS
REF # ) (IN) (IN) (IN) (IN)
8G-8FL  |G25300-0808 % % 1.19 3.15 167 0.27
COUPLING 8G-10FLK [ G25300-0810 % % 135 3.15 167 0.27
LENGTH 8G-12FL |G25300-0812 % EA 150 3.15 167 0.27
l—-c = 10G-10FLK | G25300-1010 % % 135 469 3.21 0.27
M 126-12FL | G25300-1212 % % 150 3.86 185 0.27
R2 12G-16FL | G25300-1216 EA 1 175 3.50 1.49 0.32
16G-16FL | G25300-1616 1 1 175 3.78 1.54 0.32
16G-20FL | G25300-1620 1 1% 2.00 3.78 1.54 0.32
20G-20FL |G25300-2020] 1% 1 2.00 4.43 211 0.32
20G-24FL |G25300-2024] 174 1% 2.38 463 2.30 0.32
i 1
O-Ring Flange SPECIFICATIONS
l/éo b NOM. FLG. “M” FLANGE “6” "H" FLANGE
GLOBAL 0. SIZE DIAMETER CUTOFF HEAD
22 Bent Tu ¢ REF # ! (IN) (IN) THICKNESS
CoDE 61 12G-12FL22 | G25302-1212 | 34 EA 150 0.44 447 2.46 0.27
o ST 16G-16FL22 | G25302-1616 | 1 1 175 0.44 4.87 2,61 0.32
e——c— 20G-20FL22 | 6253022020 | 1% | 1% 2.00 0.50 5.18 2.85 0.32
- .":N - :
"y Y
L]
O-Ring Flange
SPECIFICATIONS

30° Bent Tube

HOSE | NOM.FLG. | “M”FLANGE “T | “¢”

RBSH # | REF # (IN) (IN) (IN) (IN)

"H" FLG. HEAD

GLOBAL 1.D. SIZE DIAMETER DROP LENGTH CUT-OFF THICKNESS
CopE 61 (IN) (IN) )
e LENGTH ——»] 16G-16FL30 | G25304-1616 | 1 1 175 061 492 269 032
- - — e
B’ D ). |
- ) T
N- s
R .
o
O-Ring Flange SPECIFICATIONS
NOM. FLG. “M” FLANGE FLG. HEAD
450 Bent Tube GLOBAL .D. SIZE DIAMETER LENGTH THICKNESS
REF # . (IN) (IN) (IN) (IN)
CoDE 61 8G-8FL45 | G25307-0808 [ 14 % 119 078 370 222 0.26
8G-12FL45 | G25307-0812 | 1% % 150 078 370 222 027
COUPLING 10G-10FLK45 | 625307-1010 | % % 1.35 1.02 419 272 027
LENGTH 126-12FL45 | G25307-1212 | % % 150 1.00 467 266 027
[—c — 12G-16FL45 | G25307-1216 | % 1 175 1.00 467 266 032
I v 166-16FL45 | G25307-1616 | 1 1 175 1.06 5.1 287 032
~— 16G-20FL45 | 625307-1620 | 1 1% 2.00 1.06 510 286 032
& A 20G-20FL45 | G25307-200 | 1% | 1% 2.00 115 5.59 327 032

To order by phone: 1-800-669-9650

To order by fax: 1-800-736-0141

{66 }




R O Y A L B R A S S A N D H O S E

GATES HYDRAULIC

» \NDTV » [

O-Ring Flange

NOM.FLG. | “M" FLANGE | W e wem o
GLOBAL D, SIE DIAMETER LENGTH | CUFOFF | THICKNESS 60 Bent Tube
REF # . ) (IN) ) (IN) )
12G-12FL60 | G25309-1212 | % % 150 141 4561 260 027 CoDE 61
12G-16FL60 | G25309-1216 | % 1 175 173 480 280 032 L ai—
SPECIFICATIONS O-Ring Flange
CLOBAL . Nm;liz;w' mnr;lrnr’égi LENGTH H&NE&FQD 900 Bent Tube
REF # . (N) N) (N) (N)
8G-8FL90 [G25315-0808| 14 4 119 163 3.59 21 0.27 CoDE 61
8G-12FL90 | G25315-0812] %% % 1,50 163 360 213 027
10G-10FLK90] G25315-1010] 9 % 1.35 217 390 202 027 COUPLING
10G-12FL90 | G25315-1012] % % 150 228 3.94 246 0.27 T LENGTH j
12G-12FL90 | G25315-1212 % % 1.50 213 440 239 027 ’“Cﬁi
12G-16FL90 | G25315-1216] % 1 175 213 440 239 032 i
16G-16FLI0 | G25315-1616] 1 1 175 238 504 281 032 n
16G-20FL90 | G25315-1620] 1 14 200 238 5.04 281 032 fem>]
20G-20FL90 | G25315-2020| 1% 1 2.00 262 541 3.09 032
20G-24FL90 | G25315-2024| 1% 11 238 262 567 335 032

SPECIFICATIONS SAE Male Inverted
[ ]
| L Swivel
4G-AMIX | G25500-0404 e - 24
4G-5MIX | G25500-0405 Y 5-20 % % 2.52 149 «couRLNG
6G-5MIX | G25500-0605 % Y5-20 % % 2.56 146 o —]
6G-6MIX | G25500-0606 % %- 18 % % 275 1.65
6G-7MIX | G25500-0607 % 16- 18 % e 276 1.66 ( D@mﬂ
8G-6MIX |G25500-0806 % %- 18 [E7 % 3.13 1.65 Srem NT
8G-8MIX | G25500-0808 A Y- 16 %6 Ya 330 1.82 HEX
SPECIFICATIONS SAE Male
e .
aom || o | e Inverted Swivel
6G-4MIX45 | G25502-0604 | 36 | 7Ae-24 % e 1.00 317 207 5 o b
6G-5MIX45 | G25502-0605 | 36 | 1%-20 % % 1.00 3.13 2.03 4 Bent Tu e
6G-6MIX45 | G25502-0606 | 36 | 96-18 % % 1.00 332 2.22 courLG
6G-7MIX45 | G25502-0607 | 3% | 'Vie-18 % 16 1.00 339 2.29 ‘LENGT“ 7
8G-8MIX45 | G25502-0808 | 1% | 4-18 13 % 1.14 417 2.70 I ‘
OBy
NUT i

To order by phone: 1-800-669-9650 —— To order by fax: 1-800-736-0141




R O Y A L B R A S S A N D H O S E

GATES HYDRAULIC

DINIDTV » r
SAE Male SPECIFICATIONS
Inverted Swivel ame | e
) )
900 B ent Tub e 4G-4MIX90 | G25504-0404 Va 16 - 24 o 6 1.38 2.33 1.31
4G-5MIX90 | G25504-0405 Va - 20 % V3 1.38 2.46 1.44
couPLNG 6G-4MIX90 | G25504-0604 3% 16 - 24 S 6 1.38 244 1.34
e 6G-5MIX90 | G25504-0605 3% 15 -20 S b 1.38 2.50 1.40
6G-6MIX90 | G25504-0606 3% % -18 S %% 1.38 2.80 1.70
6G-7MIX90 | G25504-0607 3% Vi6-18 S e 1.38 2.80 1.70
8G-8MIX90 | G25504-0808 1] 34-16 1346 A 1.64 3.29 1.81
1
SAE Male PECIFICATIONS
Flareless Assembly am. | . i
4G-4MFA (G25510-0404 A 6 - 20 A 1) Y%e 1.95 0.93
COUPLING 4G-5MFA (G25510-0405 Va 12-20 %6 % % 1.97 0.94
[ LENGTH 6G-4MFA (G25510-0604 33 76 - 20 Va % Y6 2.05 0.95
6G-5MFA (G25510-0605 33 15-20 %6 % %8 2.07 0.97
6G-6MFA (525510-0606 3 %-18 3 % Vie 2.07 0.97
6G-8MFA (525510-0608 3% 34 -16 ) 34 78 2.20 1.1
8G-8MFA (525510-0808 ] 34-16 % 136 78 2.58 1.10
8G-10MFA (525510-0810 ) 8- 14 S 78 1 2.64 1.16
12G-12MFA (G25510-1212 34 1%6-12 3 1Yie 1V 34 1.40
16G-16MFA (525510-1616 1 1%e 1 13 1% 3.76 1.52
North American SPECIFICATIONS
[ ) “B"
Stand Plpe Gk([)gﬁl .D. LENGTH TUBE LENGTH
) (IN) (IN)
4G-4NASP | G25520-0404 Va Va o 2.26 1.24 0.88
m c—> 6G-6NASP | G25520-0606 3% 35 S 2.34 1.24 0.88
I 8G-8NASP | G25520-0808 1% 12 136 2.87 1.40 1.00
12G-12NASP | G25520-1212 7 34 1 Ve 3.58 1.57 1.16
16G-16NASP | G25520-1616 1 1 176 3.86 1.62 1.12

[ ]
Female Air
[ ]
GLOBAL .D. .D. LENGTH
Brake Swivel Lo _ _ _ , o
6G-6FABX (525540-0606 3% %4 -20 3y /3 2.41 1.31
F le c " 8G-6FABX (25540-0806 % %4 -20 1346 /3 248 1.00
" 1 ) -" q
- o
-
H1 H2

To order by phone: 1-800-669-9650 —— To order by fax: 1-800-736-0141




R O Y A L B R A S S A N D H O S E
GATES HYDRAULIC
» \ADTNV » [
SPECIFICATIONS Female Flareless Sleeve
s
RBSH # (IN) ]
4FFS Y —~—rey h‘1 T
5FFS 7 '
6FFS % A
8FFS %
10FFS % -
12FFS %
16FFS 1
SPECIFICATIONS Female Flareless Nut
TUBE THREAD
0.D. SIZE HEX
RBSH # (IN) (IN) (IN)
4FFN Va e - 20 Y6
5FFN %e Y2-20 %
6FFN % %- 18 Vo
8FFN % - 16 7%
10FFN % 8- 14 1
12FFN 7/ 1%6-12 1Va
T6FFN 1 15012 %
SPECIFICATIONS
CLoBL ! > L »
4G-8FG |G25561-0408] i | e-21 | tvae 187 0.85
6G-8FG | G25561-0608] % | v2-21 | Ve 193 083
SPECIFICATIONS Pressure Washer Swivel
GLOBAL .D. LENGTH
REF # .
4G-6PWX |G25563-0406 4 M22X1.5 252 150 LENGTH
6G-6PWX |G25563.0606] % M22X15 260 150 C
. [ =
|
' 14
To order by phone: 1-800-669-9650 —— To order by fax: 1-800-736-0141




R O Y A L B R A S S

GATES HYDRAULIC

A N D H O S E

SINIDTV - s
Male DIN 24° Cone SPECIFICATIONS
. . HOSE THREAD STEM ugy
nght Senes RBSH # ckgggt (Il'rlql.') (ﬂﬁ) (',ﬁ) Lﬂ'ﬂ" “3&‘.')"
- LENGTH - : 4G-8MDL (G25615-0408 Ya M14X1.5 17 0.94 1.97
c 4G-10MDL | G25615-0410 7 M16X1.5 17 098 201
= T e 6G-10MDL | G25615-0610 % M16X15 17 0.97 207
6G-12MDL | G25615-0612 % M18X1.5 19 097 207
8G-15MDL | G25615-0615 I M22X1.5 2% 1.08 256
ke 10G-18MDL | G25615-1018 % M26X15 7 108 2.56
12G-22MDL | G25615-1222 % M30X2.0 32 1.26 327
Female DIN SPECIFICATIONS
2 40 Cone SWivel GLOBAL m by -l LENGTH O
RB&H # REF # (IN) (Mm) (M) ) (IN)
Light S el‘ies 4G-6FDLORX | G25645-0406 Y M12X1.5 14.0 192 1.01
4G-8FDLORX | G25645-0408 7 M14X1.5 17 202 112
With O_Ring 4G-10FDLORX | G25645-0410 Ve M16X1.5 19 217 1.15
4G-12FDLORX | G25645-0412 s M18X15 2 207 117
. 6G-10FDLORX | G25645-0610 % M16X15 19 206 1.15
LENGTH 6G-12FDLORX | G25645-0612 % M18X15 2 209 118
[ o] 8G-15FDLORX | G25645-0815 % M22X15 27 243 1.16
10G-18FDLORX | G25645-1018 % M26X1.5 32 236 119
X 126-22FDLORX | G25645-1222 2 M30X2.0 36.0 279 127
16G-28FDLORX | G25645-1628 1 M36X2.0 410 321 145
20G-35FDLORX | G25645-2035 1 M45X2.0 36.0 356 174
l SPECIFICATIONS
Felolla ¢ DIN . HOSE THREAD NUT ap ugr
24° Cone Swivel —_— e | ow | o ) | o | S
Li ght Series 4G-8FDLORX45 | G25650-0408 | 14 M14X15 17 0.64 234 1.44
4G-10FDLORX45 | G25650-0410 | V4 M16X15 19 070 241 151
With O_Ring 6G-10FDLORX45 | G25650-0610 % M16X1.5 19 073 250 159
6G-12FDLORX45 | G25650-0612 | % M18X15 2 074 252 161
450 Bent Tube 6G-15FDLORX45 | G256500615 | % | M22X15 27 089 266 175
8G-15FDLORX45 | G25650-0815 | 14 M22X15 27 079 313 185
10G-18FDLORX45| G25650-1018 | 5% M26X15 32 098 337 221
" p— N 16G-28FDLORXA5| G25650-1628 | 1 M36X2.0 4 121 487 310
———

i

NUT
HEX

To order by phone: 1-800-669-9650

To order by fax: 1-800-736-0141




R O Y A L B R A S S A N D H O S E

GATES HYDRAULIC

SINDTV . e
SPECIFICATIONS ]
HOSE THREAD NUT “ “¢” o Fema e ]?IN
CLOBAL ID. SIZE HEX DROP LENGTH CUTOFF 24 Cone Swn;el
RBAH REF # (IN) (M) (M) ) (IN) )
4G-8FDLORX90 | G25655-0408 | ¥4 M14X1.5 17 138 2.14 1.24 Light Series
4G-10FDLORX90 | G25655-0410 | 14 M16X15 19 144 214 124 . N
5G-10FDLORX90 [ G25655-0510 | %46 M16X1.5 19 144 231 135 Wlth O-Rlng
6G-10FDLORX90| G25655-0610 | 3 M16X15 19 144 2.18 127 o
6G-12FDLORX90| G25655-0612 | 3 M18X15 22 146 2.18 127 90 Bent TUbe
8G-15FDLORX90| G25655-0815 [ 14 M22X15 27 165 2.87 159 e
10G-18FDLORX90] G25655-1018 | % M26X1.5 32 2.03 304 187 "
12G-22FDLORX90] G25655-1222 | % M30X2.0 36 2.40 373 2.22 — _I
16G-28FDLORX90] G25655-1628 | 1 M36X2.0 0 276 4,69 2.93 ol |
20G-35FDLORX90| G25655-2035 | 1% | M4sX20 36 3.15 5.07 3.26 R
SPECIFICATIONS Ma]e DIN 24° Cone
HOSE THREAD STEM “6” .
RBSH # Gkgﬂfl (Il'r?.') (ﬂzn:) (ml() lﬂ'ﬂ" clélTr]‘.))FF Heavy SerleS
4G-8MDH 625715-0408 Ya M16X1.5 17 2.09 106
4G-10MDH 625715-0410 Va M18X1.5 19 207 1.04 [ ]
6G-10MDH | (6257150610 % M18X1.5 19 2.07 0.97 -
6G-12MDH 625715-0612 % M20X1.5 2% 2.26 1.17 ‘-"""i_-ﬁ,.t:ﬂ.
6G-14MDH | G25715-0614 % M22X15 2% 234 1.2 - srew
8G-12MDH | G25715-0812 % M18X15 2% 242 1.14 i
8G-16MDH | G25715-0816 % M24X15 2 272 1.2
10G-20MDH | G25715-1020 % M30X2.0 32 2.89 142
SPECIFICATIONS Female DIN
GLOBAL | |||0|)SE ms?ziém :uﬂr LENGTH CUT(-:OFF 2 40 Cone SWivel
RBSH # REF # (IN) (M) (M) (IN) )
4G-8FDHORX | G25720-0408 Y M16X15 19 2.02 1.12 ° * h
4G-10FDHORX | (G25720-0410 Y M18X15 22 2.06 115 Heavy Senes WIt
5G-12FDHORX | G25720-0512 7 M20X1.5 2% 2.28 118 O-Ring
5G-14FDHORX | G25720-0514 7 M22X15 27 211 118
6G-10FDHORX | G25720-0610 % M18X15 2 2.06 115 couPLING
6G-12FDHORX | (G25720-0612 % M20X1.5 2% 2.09 118 “— LENGTH
6G-14FDHORX | G25720-0614 % M22X1.5 2 2.19 128 [f—c—
8G-12FDHORX | G25720-0812 % M20X1.5 2% 276 129
8G-14FDHORX | G25720-0814 % M22X1.5 2 256 128 =
8G-16FDHORX | G25720-0816 % M24X15 30 260 132 HEX
10G-20FDHORX |  G25720-1020 % M30X1.5 36 267 151
12G-20FDHORX | (625720-1220 % M30X2.0 36 2.99 148
12G-25FDHORX | G25720-1225 % M36X2.0 16 319 168
16G-25FDHORX | G25720-1625 1 M36X2.0 16 4.04 180
16G-30FDHORX | G25720-1630 1 M42X2.0 50 370 1.94

To order by phone: 1-800-669-9650 = To order by fax: 1-800-736-0141




R O Y A

B R A

S S

GATES HYDRAULIC

A N D H O S E

VipTV

Female DIN 24° Cone Swivel

Heavy Series
With O-Ring

GLOBAL

SPECIFICATIONS

LENGTH

REF # (n)

450 Bent TUbe 4G-8FDHORX45 | G25725-0408 | 14 M16X1.5 19 0.64 234 144

6G-12FDHORX45 | G25725-0612 | 34 M20X1.5 2% 074 252 161

I P 8G-14FDHORX45 | G25725-0814 [ 15 | M22x15 271 111 340 213

F— ' 8G-16FDHORX45 | G25725-0816 | 14 M24X1.5 30 0.85 3.19 191

“—)‘ﬁﬁ___—;_‘ f 10G-20FDHORX45( G25725-1020 [ % M30X2.0 36 098 3.36 219

HEX

Female DIN SPECIFICATIONS

24° i i

Cone Sleel GLOBAL LENGTH CUTOFF

R REF # ) )

Heavy Serles 4G-8FDHORX90 | G25730-0408 | 14 M16X1.5 19 138 214 1.2

With O'Rin g 4G-10FDHORX90 | G25730-0410 14 M18X15 2 144 215 124

5G-12FDHORX90 [ 625730-0512] %56 | M20X15 2 146 232 122

900 b 5G-14FDHORX90 | G25730-0514 | %46 M22X15 2 157 2.15 122

Bent Tu e 6G-10FDHORX90 [ G25730-0610 | 96 M18X1.5 2 144 218 127

_ 6G-12FDHORX90 [ G25730-0612 | 96 M20X1.5 2% 146 218 127

I _— 6G-14FDHORX90 [ G25730-0614 | 96 M22X1.5 27 157 218 127

_]‘:__‘___;\ _T 8G-16FDHORX90 [ G25730-0816 | 1% M24X1.5 30 173 287 159

= ' 10G-20FDHORX90[ G25730-1020 %% M30X2.0 36 201 3.00 183

] 1_1 j 106-25FDHORX90[ G25730-1025 | % M36X2.0 46 252 3.00 183

hEX - 126-20FDHORX90[ G25730-1220 [ 94 M30X2.0 36 2,01 346 194

C 126-25FDHORX90[ G25730-1225 [ 94 M36X2.0 46 252 373 222

Male British
Standard Parallel
Pipe

COUPLING
LENGTH

GLOBAL

LENGTH

REF # (IN)
4G-4MBSPP | G25810-0404 Y Y4-19 19 211 1.08
6G-6MBSPP | G25810-0606 % %- 19 2 217 1.07
8G-8MBSPP | G25810-0808 % Y- 14 27 272 1.24
12G-12MBSPP| G25810-1212 % %- 14 32 3.35 134
16G-16MBSPP| G25810-1616 1 1-1 0 398 174

To order by phone: 1-800-669-9650

To order by fax: 1-800-736-0141

(72}




R O Y A L

B

R

A

S S

A N

GATES HYDRAULIC

D

Metric Light

TUBE “g” °
weolo | i ol Stand Pipe
4G-6MLSP | G25750-0406 Ya 6.0 % 2.24 122 0.87
4G-8MLSP | G25750-0408 Ya 8.0 % 2.24 122 0.87
4G-10MLSP [G25750-0410 Y 10.0 % [&— LENGTH ——»
6G-10MLSP |G25750-0610] % 100 % 234 124 091 Se=lf=—m
6G-12MLSP [G25750-0612] 3 12 % 2.34 124 0.91 —
8G-15MLSP [G25750-0815 % 15.0 1% 281 134 0.98 |
10G-18MLSP| G25750-1018 % 18.0 T
106-22MLSP|G25750-1022] % 220 1% J_ ‘
12G-18MLSP [ G25750-1218 Y 180 1Y 344 144 1.02 :g; - ‘;"t
126-22MLSP|G25750-1222] 34 220 1% 350 150 110 L
16G-28MLSP | G25750-1628 1 280 176 3.90 166 118
] [ ]
SPECIFICATIONS Metric Bite Sleeve
TUBE
CLOBAL QUTSIDE DIA.
RBAH # REF # SIZE (MM) .
6BS (6647870006 6
8BS 6647870008 8 7 T
10BS G64787-0010 10 | &
12BS G64787-0012 12 e
14BS G64787-0014 14
15BS (664787-0015 15
16BS G64787-0016 16
18BS (64787-0018 18
20BS 664787-0020 20
22BS 664787-0022 2
25BS 664787-0025 25
28BS 664787-0028 28
30BS G64787-0030 30
35BS G64787-0035 35
38BS G64787-0038 38
42BS G64787-0042 42
To order by phone: 1-800-669-9650 =3 To order by fax: 1-800-736-0141



R O Y A L B R A S S A N D H O S E
GATES HYDRAULIC
» \ADTNV » [
Metric Bite Nut SPECIFICATIONS
THREAD DIN TUBE
GLOBAL SIZE OUTSIDE DIA.
RB&H # REF # (IN) SIZE (MM)
BMNL (664783-0006 M12x1.5 6
6MNH G64789-0006 M14x15 6
8MINL G64788-0008 M14x15 8
8MINH G64789-0008 M16x15 8
10MNL G64788-0010 M16X15 10
10MNH G64789-0010 M18X15 10
12MNL G64788-0012 M18X15 12
12MNH G64789-0012 M20X15 12
14MNH G64789-0014 M22X15 14
15MNL G64788-0015 M22X15 15
16MNH G64789-0016 M24X15 16
18MINL G64788-0018 M26X15 18
20MNH G64789-0020 M30X15 2
22MNL G64788-22 M30X2.0 2
25MNH G64789-0025 M36X2.0 5
28MINL G64788-0028 M36X2.0 28
30MNH G64789-0030 M42X2.0 30
35MNL G64788-0035 M45X2.0 35
38MNH G64789-0038 M52X2.0 38
42MNL G64788-0042 M52X2.0 2
Male British SPECIFICATIONS
° HOSE THREAD STEM “”
Standard Plpe GLOBAL 1. SIZE HEX LENGTH CUTOFF
RB&H # REF # (IN) (IN) (Mm) ) )
Tapered/Japanese 4G-4MBSPT | G2579-0404 Vi Ya-19 14 189 097
6G-6MBSPT | G2579-0606 % %-19 19 195 1.03
“pered Thl'ead 8G-8MBSPT | G2579-0808 i Vo-14 2 249 122
e v —] 126-12MBSPT| G2579-1212 % %- 14 32 292 141
s 16G-16MBSPT | G2579-1616 1 1-1 36 345 1.64
£
l 11 h SPECIFICATIONS
Fema e Bntls HOSE THREAD NUT “6”
Standard o | || R || |
Parallel Pipe 4G-4FBSPORX | G25830-0404 Va Ya-19 19 1.57 067
4G-6FBSPORX | G25830-0406 Y %-19 2 157 067
O_Ring SWivel 5G-6FBSPORX | G25830-0506 %e %-19 2 1.66 071
5G-8FBSPORX | G25830-0508 %6 Vo 14 277 216 1.06
COUPLING 6G-6FBSPORX | G25830-0606 % %-19 2 161 070
LENGTH 6G-8FBSPORX | G25830-0608 % Yo- 14 27 158 0.67
[<—c 8G-6FBSPORX | G25830-0806 N %-19 2 262 114
I 8G-8FBSPORX | G25830-0808 Y% Vo- 14 27 1.95 067
8G-10FBSPORX | G25830-0810 Y %- 14 27 268 120
HEx 10G-10FBSPORX| G25830-1010 % %-14 30 1.92 075
10G-12FBSPORX| G25830-1012 % %-14 R 1.99 082
12G-12FBSPORX| G25830-1212 % %14 2 234 083
12G-16FBSPORX| G25830-1216 % 1-11 M 343 142
16G-16FBSPORX| G25830-1616 1 1-11 4 276 099
20G-20FBSPORX| G25830-2020 14 1%-11 50 297 116

To order by phone: 1-800-669-9650

(74 |

To order by fax: 1-800-736-0141




R O Y A L B R A S S A N D H O S E

GATES HYDRAULIC

Female British

w | 8| Sl  Standard Parallel
4G-4FBSPORX45 | G25831-0404 | 14 Va-19 19 046 213 122 . . .
6G-6FBSPORX45 | G25831-0606 | % %-19 2 061 244 154 Plpe O'Rlng Sleel
8G-8FBSPORX45 | G25831-0808 | 14 Yo-14 27 0.67 3.01 173 450 Bent Tube
10G-10FBSPORX45| G25831-1010 | 9% %- 14 30 0.84 322 205
12G-12FBSPORX4S| G25831-1212 | % %- 14 32 111 405 254 e
16G-16FBSPORX45| G25831-1616 | 1 -1 I 122 487 3.10 -
20G-20FBSPORX45| G25831-2020 | 1% | 1%-11 50 148 5.50 3568 FETNEY

o

HEX

Female British

o || _ e | e Standard Parallel
4G-4FBSPORX90 | G25832-0404 - ) . | Po O R. S ° l
6G-6FBSPORX90 | G25832-0606 | 34 %- 19 % 126 224 134 lpe = lng wive
6G-8FBSPORX90 | G25832-0608 | 34 Yo-14 16 148 2.18 127 900 Bent Tllbe
8G-8FBSPORX90 | G25832-0808 I Yo-14 1 %6 148 2.87 1.59
10G-10FBSPORX90| G25832-1010 | 54 %- 14 1% 181 3.00 1.83
12G-12FBSPORX90| G25832-1212 | 34 % - 14 1Va 2.36 3.72 2.20 E@%
16G-16FBSPORX90| G25832-1616 1 1-11 1% 276 4,69 2.93

|

. Female British
i N - - T - ol B Standard Parallel
e N I S O-Ring Swivel

90° Block
[—
T

i §
=4 W]

SPECIFICATIONS Female British
“c” [ ]
s , , , 1 Flat-Face Swivel
6G-8FBFFX (525855-0608 3% Yo-14 1 Vie 1.79 0.69
8G-8FBFFX | G25855-0808 A - 14 16 219 0.71 LE”GT” J
8G-12FBFFX | G25855-0812 ) 34 -14 1V 2.07 0.59

tﬁﬂd

NUT
HEX

To order by phone: 1-800-669-9650 = To order by fax: 1-800-736-0141




R O Y A L B R A S S A N D H O S E

GATES HYDRAULIC

» \ADTNV » [
Female SPECIFICATIONS
HOSE THREAD STEM NUT “
GLOBAL 1D. SIIE HEX HEX LENGTH CUT-OFF
Komatsu St)’le RBEH # REF # (IN) (M) (M) () (IN) (IN)
o 4G-4FKX | G25910-0404 Va M14X1.5 143 19.0 222 1.18
Japanese Metric
7 l - LENGTH - 8G-8FKX | G25910-0808 Yo M22X1.5 20.7 27.0 293 1.46
Slee j“ i!,; 10G-10FKX [G25910-1010] %% M24X1.5 254 318 309 162
% 12G-12FKX |G25910-1212 £ M30X1.5 28.6 36.5 3.82 1.81
STEM nuT 16G-16FKX |G25910-1616 1 M33X1.5 349 413 451 2.28
HEX HEX
Female SPECIFICATIONS
Komatsu Style am. | b | . e
* 4G-4FKX45 | G25911-0404 Va M14X1.5 Yo Ya 0.75 3.07 2.05
Japanese Metnc 6G-6FKX45 | G25911-0606| 3% M18X1.5 % 7 1.10 3.39 2.29
Swivel 8G-8FKX45 | G25911-0808 1Z) M22X1.5 %6 1 %6 0.71 3.74 2.26
10G-10FKX45| G25911-1010| 5% M24X1.5 %6 1Y 1.10 443 2.95
45° Bent T 1 7
ent upe 12G-12FKX45| G25911-1212 9% | M3oX15 [ 1% 17% 118 5.24 3.3
" LENGTH » These female swivels have been marked with two small notches on the hex to identify them
iy c- " as the Komatsu style.
j! N\ 4
- R 3 ‘.’\-
E STEM - w |
HEX l‘;u& ¥
HEX
Female SPECIFICATIONS
Komatsu Style 8] w | o
< 4G-4FKX90M | G25913-0404| V4 M14X1.5 Yo 7 1.50 272 1.69
Japanese Metrlc 6G-6FKX90-028| G25913-0606 | 3s M22X1.5 % % 1.09 2.92 1.82
SWivel 8G-8FKX90M | G25913-0808] 75 | M22X15 | e 1V 138 346 1.99
900 B T b 12G-12FKX90M| G25913-1212| %4 M30X1.5 1%e 1% 2.48 4.65 2.64
ent ube These female swivels have been marked with two small notches on the hex to identify them
“ LENGTH > as the Komatsu style.
™ [+ -
- I] W'J-_ &
) STEE)I;J \
H < T
NUT ! i\
HEX § ¥
Female Japanese SPECIFICATIONS
]
Industrial Standard Fa
L] 4G-4FJISX | G25930-0404 Va Ya % 2.20 1.18
Sleel «__ COUPLING 6G-6FJISX | G25930-0606 % %-19 % 7 2.38 1.28
LENGTH
< > 8G-8FJISX |G25930-0808 Yo Yo-14 136 1 V16 293 1.46
12G-12FJISX | G25930-1212 7 Ya-14 1 %6 1V 3.67 1.67
B@@ 16G-16FJISX | G25930-1616 1 1-1 1% 1% 4,08 1.84
S nor 20G-20FJ1SX [ 625930-2020] 174 1%-11 1% 2 4.59 226

To order by phone: 1-800-669-9650 = To order by fax: 1-800-736-0141




R

SPECIFICATIONS

Male O-Ring

HOSE THREAD STEM NUT “¢ o

R AR N AR NN RS = Adapterless Swivel
4G-4MBAX | G25130-0404 Va e - 20 14.0 17.0 319 217
4G-6MBAX |G25130-0406 Va %6 - 18 14.0 17.0 319 217 « - -
6G-6MBAX |G25130-0606 % %6 - 18 17.0 220 3.44 235 ” fp——oo »
6G-8MBAX |G25130-0608] 3 %- 16 17.0 220 343 233 ' YT
8G-8MBAX |G25130-0808 % ¥-16 220 240 4.02 254 A d
10G-10MBAX| G25130-1010 Yo Y- 14 24.0 300 4.25 278 HEX NUT  HEX
12G-12MBAX| G25130-1212 % 1Y6-12 21.0 36.0 5.16 3.15

SPECIFICATIONS Male O-Rin
-Ring

GLOBAL
REF #

Adapterless Swivel

4G-4MBAX45 | G25133-0404 n 17.0 142 3.54 252 4 50 B ent Tub e
6G-6MBAXA5 | G25133-0606 | % | %e-18 | 9% 20 157 398 288
6G-8MBAX45 | G25133-0608 | C\ | Cw-16 | B\ | LemamH
8G-8MBAXA5 | G25133-0808 | 1% | %-16 | ‘%o 200 181 180 333 — € l
10G-10MBAX45| G25133-1010 | % | 7%-14 | 1% 300 197 5.08 362 ﬂ! ﬁ;{ L
12G-12MBAXA5| G25133-1212 | % | 1Ve-12 | 1 Ve 360 220 5.98 3.98 ' T ‘tii\:@T
SPECIFICATIONS Male O Rin
-Ring
L[]
| , Adapterless Swivel
4G-4MBAX90S |625135-0404] 14 % 170 232 268 165 900 Bent Tllbe
4G-IMBAX0L [625136-0404] v | Ze-20 | 1% 170 335 240 138
6G-6MBAXI0S |G25135-0606] % | %e-18 | % 20 260 307 197 _ o
6G-6MBAXI0L |G25136-0606] % | %%e-18 | % 20 378 276 166
6G-8MBAXI0S |G25135-0608] % | %- 16 % 20 260 307 197
8G-8MBAX90S |G25135-0808] 12 | %-16 | 'e 240 303 380 232
8G-8MBAX90L |625136-0808] %5 | %-16 | 1% 240 441 344 197
10G-10MBAX90S[625135-1010] % | 7-14 | 1% 300 339 419 272
10G-10MBAX90L|G25136-1010] % | 7-14 | 1% 300 1,96 376 228
106-12MBAX90S[625135-1012] % | 1Vie-12 | 1 Ve 360 382 5.00 299
12G-12MIBAX90S625135-1212] % | 1 Vis-12 | 1 Ve 360 382 5.00 299
12G-12MBAX90L|G25136-1212| % | 1 YAe-12 | 1 Ve 360 563 149 248
To order by phone: 1-800-669-9650 == To order by fax: 1-800-736-0141






